Math 102
Quiz 1 Section 2.1
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Use proper notation for full credit.

1. Determine whether each set is well defined. (1 pt/problem)

a {5,10,..3_Not M&L&M\@W&Mioe b dodlos o odds s
T hodd Ruva ot hengd 2 o lavnensts)

b. {x: x is a rational number greater than 3 inclusively} (A 241 dg QQ«\/\_J
c. {y: v is a busy person} ot UU«QJLQ AIQ,M

2. Fill in the blanks with one of the following € or fé to make each statement true. (1 pt/problem)

a. \/@_é{_ | b.{1,2,3,...}i£N
ya {Integers gsﬁ,l Fatbior JARe o~ oo el ermont

3. Re-write the following: (2 pis/problem)
a. Change to set-builder notation {1,2,3, 4, ... , 15}.

1.a. E/X"’X pS A ﬂaJ~a‘@20' Q—,/.,ag-g_ Lhewn 15 fﬂc;ug[\uj‘%@

b. Change to list/roster method {y: y is an integer number less than 10}.

b 528, 7 6, .-5
c. Change to listing/roster method to express the set of integers which when squared equal 36.

A

4. Describe each as finite or infinite. (1 pt/problem)
a. {y: y is real number between 8 and 80} __in \,Cr\f\ e

b. {y: y is a word in the English Language} v‘:ﬁ\r\i Le

5. Draw a bag diagram to illustrate the set {7, {3, 6}, {@}}. (2 pts)
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